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Subtracting Decimals with the Same Decimal Places
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Part 4 – SATs Questions
Q1.
 
Jacob cuts 4 metres of ribbon into three pieces.
The length of the first piece is 1.28 metres.
The length of the second piece is 1.65 metres.
Work out the length of the third piece.
2 marks
Q2.
 
A shop sells three types of sunglasses.
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What is the difference in price between the most expensive and least expensive sunglasses?
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1 mark
The shop also sells sun hats.
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Ryan buys the £4.69 sunglasses and a sun hat.
How much change does he get from £10?
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Jack has £1254 in his wallet.
He buys a football which costs £5.82 @

How much money does he have left?
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Dexter and Annie have some money.
Dexter has £3.45 more than Annie.

They have £12.45 altogether.

How much money does Anrie have?
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In this number pyramid, each number is
calculated by adding the two numbers
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